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Question 1
Question Type: MultipleChoice

For the same-frequency switching scenario, which of the following parameters has little effect on the handover?

Options: 
A) ofn

B) ocn

C) ofs

D) ocs

Answer: 
A

Question 2
Question Type: MultipleChoice



For the following LTE neighborhood planning, which description is ? (Multiple choice)

Options: 
A) The directly adjacent cell geographically is generally used as a neighboring area.

B) For dense urban areas and ordinary urban areas, due to the relatively short distance between stations (0.3~1.0 km), neighboring

areas should do more

C) Because there is no sequence problem in the neighboring area of LTE, and the detection period is very short, it is only necessary to

consider not missing the neighboring cells without needing to sort the neighboring cells strictly according to the signal strength.

D) ANR function can completely replace the neighboring area planning of the initial network

Answer: 
A, B, C

Question 3
Question Type: MultipleChoice

Assuming other conditions are unchanged, if the power parameter PB is changed from 0 to 1, then which of the following statements is ?



Options: 
A) Cell reference signal power is increased by 3d

B) Cell reference signal power is increased by 1dB

C) Cell reference signal power is reduced by 3dB

D) Cell reference signal power is reduced by 1dB

Answer: 
A

Question 4
Question Type: MultipleChoice

Which of the following does identifier identifies the user PDN connection comprise in LTE/EPC network?

Options: 
A) TEID



B) UE IP

C) APN

D) GUTI

Answer: 
A, B, C

Question 5
Question Type: MultipleChoice

D, F, E spectrum corresponding frequency band are respectively 38,39, 40; the corresponding frequency range respectively is 2570-

2620,1880-1920,2300-2400.

Options: 
A) True

B) False



Answer: 
A

Question 6
Question Type: MultipleChoice

In LTE, the uplink pilot signal includes DMRS and Sounding RS.

Options: 
A) True

B) False

Answer: 
A

Question 7
Question Type: MultipleChoice



In SAE, which of the following entity use to deal with the control plane of S1 interface?

Options: 
A) MME

B) SGW

C) PDN GATEWAY

D) PCRF

Answer: 
A
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